H & 0l & AHS B Ml A

3 B gEdS F= TASES =4
el =M 2Zet &4 (Gt H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
Ch2A2E0 8,560,773 9,103,273 AB42,500
= 3,500 3,500 0
[as 203,000 203,000 0
Al 8,354,273 8,8%,773 542,500
B JUE F= TH2ES X2H 8,338,787 8,664,520 A325,733
= 3,500 3,500 0
[as 203,000 203,000 0
Al 8,132,287 8,458,020 A325,733
SN elZet £ 6,753,999 7,141,728 N387,729
= 3,500 3,500 0
Al 6,750,499 7,138,228 N387,729
HUZA2 29 208,709 214,450 N5, 74
201 Ler2aY| 53,260 56,610 12,350
01 Ab2teltl 44,650 47,000 2,350
OMNRES Fd 338 2,650,0002 2,650 5,000 2,350
301 LEEX S 33,324 33,340 A16
11 HAMHIXIE S 304 320 A16
Ot A2 NSOt 2tE3 &34 =<
33 304,000 304 320 A16
406 XHoHR SHI 64,125 67,500 13,375
01 A =ZFSHI 5,225 5,500 N275
O=A JAIL 2 338 2,725,000 2,725 3,000 N275
02 =A=HI 58,900 62,000 3,100
OO0l 288 TA 7Y 41,900 45,000 3,100
—&I2F & YA 7Y
23 27,900,000 27,900 31,000 23,100
MM 29 384,264 396,739 A12,475
201 £er2aY| 211,295 221,770 A10,475
01 Ak 2teltl 105,450 111,000 25,550
OJI2l™AlIE =&l 22,450 28,000 5,550
—JIETAIR] HAE &4
348 10,450,000& 10,450 16,000 5,550
03 A2 I 93,575 98,500 N4,925
OO ASHAl =& 75,075 80,000 N4,925
—25 .41 € 2E8g
3d 27,075,000 27,075 32,000 N4,925
301 LEtEN S 91,860 9,160 2300
1 HAMHIXIES 5,700 6,000 A300
OXHASAER dAX| 2t
3% 4,908,000 4,908 5,208 A300
406 XHaHR S| 42,300 44,000 21,700
01 AL =S H S 11,900 12,000 A100
Olg® &gt 7Y & 9,900,000 9,900 10,000 A100
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Oztda £ 3t 7
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OXESALAL 3l HATH 24
33 304,000 304 320 A16
401 AlZHIL 2] 46,300 71,300 A25,000
01 Al 46,300 71,300 125,000
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— XS OIAD| (M)
33 03 0 9,000 9,000
—AEIHE A 23 02 0 4,500 A4,500
—=X2] HRH 38 03 0 4,000 24,000
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—JIEF &AM 23 03 0 2,000 2,000
406 XHaHH St 42,000 44,000 2,000
02 Al 38,000 40,000 2,000
OO0l 288 a1 38,000 40,000 22,000
—AIAEN & SILEN FY
38 28,500,000& 28,500 30,500 2,000
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301 LEtEN S 36,770 49,450 A12,680
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M A2 23 02 0 5,500 25,500




2N EMZ2ED
3 B gEdS F= TASES =4
el =M 2Zet &4 (Gt H2)
SA - HE - SRA(BIH) - ARAY - BAS 0 & ol 8 o tmE==T
OJda =208 24 33,270 39,950 16,680
— &5 T2 2]
43 1,000,000 1,000 7,680 6,680
406 XHaHF St 28,500 30,000 21,500
02 =AY 28,500 30,000 A1,500
OJIH =M 2 EA7Y
38 28,500,0002 28,500 30,000 21,500
relg=EME 29 422,054 426,020 A3,966
201 £eH2aY| 48,750 50,700 A 1,950
01 At 2teltl 37,050 39,000 21,950
OSA WARC & EHIXY
4% 4,850,000 4,850 6,800 21,950
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406 XHoHR SHI 48,000 50,000 2,000
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3& 12,050,0002 12,050 16,000 13,950
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01 Ak 2teltl 148,820 153,590 A4,T70
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O=A2 MOt & D+ Y 229,000 242,000 13,000
—AIRA, T2 oK%
34 67,000,0002 67,000 80,000 13,000
02 =ATHI 198,550 209,000 10,450
Ool=8=Ma A 2 198,550 209,000 10,450
—f2 & AAEN P
Zd& 187,550,000 187,550 198,000 10,450
HESHEZAMZ 23 14,800 22,500 AT,700
201 23| 5,300 5,500 A200
01 At 2teltl 3,800 4,000 ~200
OMNRES +d & 800,000 800 1,000 ~200
301 LRENHS 7,000 7,000
BOEEd= 7,000 7,000
oZzId 29 0 7,000 7,000
—&ED] T2 A
2AX 0 960 A960
—S3 T2 ZAH 38 03 3,000 3,000
—gsh T2 8 A 34 0= 2,160 A2,160
—OolBH| 208 2ZAHHI
33 03 0 480 2480
—S& Al 33 03 0 400 2400
405 KhakF S| 9,500 10,000 2500
02 =X 9,500 10,000 2500
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43 7,500,000 7,500 8,000 A500
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02 =Xl 5,700 6,000 A300
ool 288 Itz 7Y
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ORSENE EANECSE 7Y
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301 LetEAZ 3,550 9,000 A5,450
11 AN~ S 3,550 9,000 N5,450
O 28X M2 23t 1S
38 0 0 4,800 24,800
OX2EA 2R SHU=R
d& 1,570,000& 1,670 2,220 2650
307 212+0l1d 832,182 901,400 169,218
02 LB HAHE X 832,182 901,400 169,218
oA 29
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405 KHaHF S| 95,000 100,000 5,000
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01 AFR2telHl 20,827 21,923 A1,0%
O=N2 2823 =<
& 4,904,000 4,904 6,000 A1,0%
2 =534l 382,769 362,769 20,000
O=HANEZN2 3S23(HI] & A, &
ot=, SARS S)
20,000,000 12 20,000 0 20,000
203 AR=TH| 950 1,000 A50
03 AIB=ZH 22| 950 1,000 NG
OOEH M2t JI2lTAl R TA2 Z27]
g s gexd & 950,000 950 1,000 250
Hol= TAl =&Y 923,744 965,99 NA2,252
s 203,000 203,000 0
Al 720,744 762,99 N42,252
SN AE =8 189,500 214,000 A24,500
201 LBzl 104,500 110,000 5,500
01 Al2teldl 104,500 110,000 5,500
OZI@ 12l 13 MJ| &5 S|
Z& 14,500,000 14,500 20,000 25,500
301 LetEA=Z 65,000 84,000 19,000
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Ogsot A= Z2& 1,590,000 1,590 1,712 A2
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01 ArR222lt| 9,215 9,700 2485
OoxzY g2 ME 9,215 9,700 A485
d Z20Y E2E NE
23 4,215,000 4,215 4,700 A485
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11 S#HALAHIXIEZ 0 720 AT
O=sAMsotel 2t43l F=&
2 0 0 720 AT20
SN2 AL 40,627 45,140 24,513
201 2Et2 & 29,450 31,000 A1,550
01 ArR2eltl 3,800 4,000 A200
OZ M2t AL 23 &4 7
Z& 800,000 800 1,000 A200
03 A2 G| 25,650 27,000 A1,350
O=&Al B=H 29 18,650 20,000 A1,350
—&9 20,80, 88 S 4X
Z & 8,650,000 8,650 10,000 1,350
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